T3 flx) = ¥2—x, g(x) = 2x+ 19 A5t (fogo £)(1) 2] AH2?
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f(1) =0°lBZ (go f)(1) = g(f(1)) = g(0) =1
S (fegef)1) =f(1) =0
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3. f(x)=ax+b (a#0) g(x) =x+cet 2, (fog)(x) =2x-3,
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(fog)x)=f(x+c)=a(x+c)+b=ax+ac+b
La=2---0Q

ac+b=-3---©O

f1(3) =-2°1BE&, f(-2) =3

S —2a+b=3---©

Q, ©, &= At 24
La=2,b=7c¢c=-5




TS fx) = B+ %+ x, g(x) = mx+n ol D (fog)(x) =
8x® — 8x? + dx—1 ol2t & o, m® + n® O] 2 AuA7E? (HF, m,n
&A%

(fog)(x) = f(gx) ¥= BT
AR Aole] elstel,
(feog)x) = fg(x)
= (mx +n)® + (mx+n)? +mx+n
3x3 + 3m2nx? + 3mn?x + n® + m2x?

+2mnx + n? +mx+n
= m3x3 + (3m?n + m?)x?
+(3mn? + 2mn + m)x +n® +n* +n
=8x3—8x? +4x—1
Fo17 412 x of tfat FE5Aolng
m3 =8, (m—-2)(m?>+2m+4) =0

m=2(-m<A5)
3m*n+m? = -8 ol m =25 HYstH
3-22.n+22=-8,12n+4=-

sn=-1

m=2n=-1< M,

x O A%t ASE AXstn
m=2,n=-1

mP et =234 (-1)3 =7




e (Ha<b, a®t b= ARAQ HS)
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